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For the Regents Exam you will need to show how valence electrons are shared or transferred in specific elements and compounds using Lewis (electron) dot diagrams.

This is a task you have already covered in the bonding unit. You will be tested on the following dot diagrams next week. The first 20 points of the test is completing this worksheet for homework.

Draw the Dot diagrams for the following Species:

HCl_______________

NaCl _______________

H2  _______________


F2        _______________

O2  _______________

N2
   _______________

CO2_______________

H2O   _______________

NH3 _______________

CH4   _______________

CCl4 _______________

BaCl2 _______________

Al2O3 ______________

Mg
  _______________

Ne
_______________

PBr3   _______________

AlBr3 ______________

I2
   _______________

KI     _______________

MgO _______________

Points to Ponder:

If the dot diagram is for a monatomic element, just find the number of valence electrons and place them around the elements symbol.

If there are 2 or more atoms in the species then you have to determine is the boding Ionic or Covalent.

If it is Ionic: 

1) Write the metal ions symbol with NO dots, square brackets around it, and the charge outside the brackets.
2) Write the non-metal ions symbol with 8 dots, square brackets around it, and the charge outside the brackets.
3) If the charges of the two ions do not cancel, you must figure out how many of each ion you need so that the sum of the charges comes out to zero
If it is covalent: 

1) Add up all the valence electrons for all the atoms in the species.
2) Place the element that has the least number of atoms present in the middle and the rest of the atoms around it. (Top, Bottom, Left, and  Right)
3) Place a  bond (1 pair of electrons) between each atom.
4) Then fill the atoms with 8 electrons starting with the element with the highest electronegativity. Until you run out of electrons. (See Step 1)
5) If all the atoms are stable, have 8 electrons (hydrogen only needs 2), you are done. If any atoms do not have 8 electrons, move un-bonded pairs of electrons to bonded pairs making double or triple bonds so that each atom ends up with 8 electrons. (You can’t have more or less electrons showing then the total you counted in step 1. 

